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E+n x 10 E+3  x 1000
(ke/ ) (ko/ )

1 26E+0 26 26
2 9.8E+2 9800 16E+2 160.0 1,140.0
3 1.0E-1 0.1 0.1
4 13E+0 13 28E+0 28 41
5 1.1E+0 11 11
6
7 2.6E+3| 24E+0 2,611.8 11E+2 110.0 2,721.8
8 39E+3| 10E-1 38725 20E+1 204 38929
9 20E-1 02 02
10
11 82E+1 815 36E+3 36000 36815
12 8.9E+3| 1.6E+1 8,916.7 9.5E+3 9,535.1 18,451.8
13
14 8OE+3| 7.3E+2 87588 | 30E-1| 15E+4| 148518 236106
15
16 1.3E+0 13 4.0E-1 04 1.7
17 1.5E+1 147 1.2E+0 12 15.9
18 6.3E+1 625| 18E+1| 10E+2 1180 1805
19
20
21 20E-1 02 02
22 1.7E+4 17,372.0 53E+1 53.0 17,425.0
23 44E+3| 3.0E-1 4,366.9 1.2E+2 1241 4,491.0
24 1.2E+4 11,881.2 5.2E+3 5,188.4 17,069.6
25 47E+1 474 474
26 14E+1 14.0 7.0E-1] 4.0E+1 40.8 54.8
27 15E+3| 1.0E+0 15157 10E-1| 3.4E+3 3,423.4 4,939.1
28 22643 16E+2 23752 62E+4] 616309 64,006.1
29
30 16E+1| 20E-1 162 1622
31
32
33 88E+3| 16E+2 9,006.0 14E+1 140 9,0200
34 10E+4 10,400.0 46E+4| 460000 56,400.0
35 8.4E+3 84318 25E+4] 250110 3344238
36 7.1E+0 7.1 1.2E+2 120.0 127.1
37
38 34E+4| 29E+3 37,340.0 19E+4| 185400 55,880.0
39
40 60E+2| 9.3E+1 6912 35E+3 35000 4,1912
41
42
43 1.0E-1 0.1 0.1
44 5.5E+0 55 55
45 70E+2] 10E+3 16980 1698.0
46
47

1.3E+5| 5.1E+3 130,473.2 19E+1| 1.9E+5 192,045.7 322,518.9
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